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Question 1-A
What is the unknown divisor ?
2 = 2
T wam aam oo E
1
A (= C 2
y
1
B (= D 5
5
Question 1-B
Complet the equation
2 +5=2 X
A 1 C 2
2
B 1 D 5
5
Question 2
Ahmed walked 22 miles over the crouse of 7 days. he walked the same
number of miles each day. How many miles did he walk each day?
A |3R1miles
B [2R7 miles
C | 3= miles
7
1.
D 5; miles
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Question

3

Which equation can be used to check the quotient of the division equation

shown ? 15+§=n
A |3 1 1
*15°35
1
B |[1G5x—=05
3
1
C |45 x—==15
D [3x5=15
Question 4
What is the quotient?
1 4
Shiadas
1
A =
3
g |1
4
c |L
12
D 12
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Question 3

During a reading contest, hurmaid read for a total of 72 hours.
How many days is equal to 72 hours?

A | 6days
B |5 days
C |4 days
D |3 days
Question 6

Alia’s backpack has a mass of 9,080 grams.
What is the mass in kilograms?

A |9.08 kg
B |90.8kg
C |908 kg

D |9080 kg
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Question 7

1
Ameer has a roll of wrapping paper that is 3 yards long. He uses 3 of the

wraaping paper to wrap a present. What is the length in feet of the paper
left on the roll?

A [3ft
B |2ft
C |6ft
D |[12ft
Question 8
What order pair describes point M? oI T, -
3 .
g ‘L
: H
2 .
1 .M
0 £
12 3 4 5 6
A |(14)
B |(1,2)
c |(2,1)
D |[(35)
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Question 9

P 30 ¢y -~
The graph represents the times and 25 ' 4
carresponding location of the elevator. 3 112 .,*’
How many minutes will it take § 10 v
the elevator to reach 15% floor? S| -

08—

1 2 3 4 5 6
Time [minutes) =dn

A 3 minutes

B |4 minutes

C 5 minutes

D 6 minutes

Question

10

Select the name for this figure.

A | Equilateral triangle

B |Scalene triangle

C |lsosceles triangle

D |Right triangle
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Question 11

Which quadrilateral always have 4 sides of equal length?

A |Rectangle

B |Squares only

C | Rhombus only

D | Both square and rhombus

Question 12

Which numerical expression represents the description?
Divide 40 by 5 . then subtract 2.

A [(40-5)=2

B |(40+5)+2

C [(40+5)-2

D |(40-5)-2
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Question 13

Compare the expressions using >,<or =.
(40—5)+2 0(40—5}

=

<

All of them

O(n(m| >

Question 14-A

Which operation will you perform first to evaluate the expression?
(37—-5)+2x5

Division

Multiplication

Subtraction

Addition

O|ln|(m| P>

Question 14-B

Which numerical expression is equal to 87

(24+-6)x4+7

2d+-6x4+7
24 - (6x4)+7
2d+-6x(4+7)
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Question 15

Pattern A starts at 0 and adds 4 to each term.

Pattern B starts at 0 and adds 8 to each term.

What is the relationship between corresponding terms in the two
numerical patterns ?

Multiply pattern A by 2 the product is pattern B

Multiply pattern B by 2 the product is pattern A

Multiply pattern A by 4 the product is pattern B

= T - B

Multiply pattern B by 4 the product is pattern A

Question 16 16 Jlged!

A baker has 4 pounds of flou . She divides it evenly into bags
that hold -%- pound each. Show how many bags the baker can fill
using a fraction model.
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Question 17 17 J 3
Sasha spends 5 of each school day in math class, science class,
and history class. If the time spent in each class is the same, what
fraction of the school day does Sasha spend in math class?
Question 18 18 Jh gl
This line plot shows the lengths of various mice from nose to the
tip of the Lail. Use the ine plot to answer the guestions.
X X
® X X 4
i X X X X X
+— —tr t ' —
of 43 ¢3 5 sishsi ® e
Mice Length (in inches)
How many mice are in the data set? How many mice are longer than 57

What is the combined length for mice

What is the difference between the
1
that are 55 ¢

longest and the shortest mice?
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Question 19 19 I g

Plot the points (1,3),(1,6),(5,6) and (5,3). Draw a line to connect the points in the
order in which you plotted them. What is the length and width of the shape?

6 ¥
4
j i
v, —
1
X
°— 31 2 3 4 5 &
Question 20 20 1 gl

Pattern A starts at 0 and adds 3 to each term.
Pattern B starts at O and adds 12 to each term.
If 72 is a term in pattern B, what is its corresponding term in pattern A ?

e oy 3330 gl L o .

11
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